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lnstructions:-

1) Solve any two questions

Code :- 7XT3

3l_4ll guestion carry equal marks

Vrite the adva"tu
DSP) over analog signal processing (ASp).

x(z)=z/z-a r n)o
ind z-l using method of residue.
x(n) = {1 1o olfi"d@ 2 credit point-

sketchdirectfo@
J(z) = 'l-,- 2 Z-r+1/ Z Z-z + r/z Z-s _ r/z Z_a

w direct r rrr".

(n) =_'/n y (?-1) + 1/ 8 y (n-2)+ x (n) * 1/+ x(r,-l)

2 credit poini

le & explurr ru
ital signal processing.

I credit poin-

discrete time r"qrrur.u i,
n) = 1+n/3 ;-3<n<-L

,0sn<3
Elsewhere

I credit point

teandExplainu,y@
2 credit point

)btain circular
r(n)={1 22U & xz(n) ={1,231}

2 credit point

raw linear phase ,t u.tuffil
(r)={f1 2 3 s z 1}



e Ha(s) = 1,/ (s+1) ("-2), using impulse invariant
:thod, find H (z) for sampling frequenc v -J.0 Hz.

2 credit point

t Draw & explain the architecture of DSn pro."sro.
rMS 320C54XX

I credit point

Que.3
a Determine if the systems described uy the fotto*ir,g

rnput - output are linear or non-linear

lr(n)=nx(n) ii)y(n) = x2(n)

2 credit point

2 credit pointb Define region of convergence (ROC) & e*pl"oin
lifferent properties of ROC.

c Find 4-point DFT using DITFFT ulg*itf,.r, f*
x(n) ={1 1. ^0 0}

t

2 credit point

d Design an FIR digital filter to appro*ir"ut" ur, ia"ut
Low filter with pass band gain of unity , cut_ofl
:requency of 850 Hz & working at sampling
requency fs =5000 Hz. The length of .impulse

:esponse should be 5. Use a rectangular window

2 credit point

e tf Ha (t) = 1/ (s+0.1), +9

Find H(z) by approximation of derivative
nethod for T = L Sec. and realize using direct
orm.

I credit point

t ind the expression for the outp"tJ(")E t"r-,
rput x(n) for the multisampling rate system giv<
s follows:-

t v(")

I credit point



Oue.4
a

'. 1. I t- 9,

a discrete time sequence x(n) is

,")

:etch (i) x (n-2)

(iii)x(n).4(2-")
(ii) x (2-")
(iv) x (n)

I credit point

b lolve y (n+2) - 5 y(n+1) + 6 y(n) = y(n) with initial
:ondition y(0) =0 & y (1) = 1

I credit point

c I X (K) = {2,1-i , 0 ,l*il, find 4 point IDFT. 2 credit point

d Realize digital filter tor H(Z) ='1" -3 / 4 Z-r + 7 / I Z-2 in
:ascade form.

2 credit point

e Realize the filter H(z) =

in cascade form.

t+t/gK-l

wiL
2 credit point

f Nrite short notes on:-

i) Decimator ii) Interpolator

2 credit point


